

Make Your Publications Visible.

A Service of



Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre

Ng'ambi, Wiza; Mwanza, Getrude B.; Haabazoka, Lubinda

Article

A comparative analysis of Zambian and newly industrialised country manufacturing finance models

Cogent Economics & Finance

Provided in Cooperation with:

Taylor & Francis Group

Suggested Citation: Ng'ambi, Wiza; Mwanza, Getrude B.; Haabazoka, Lubinda (2024): A comparative analysis of Zambian and newly industrialised country manufacturing finance models, Cogent Economics & Finance, ISSN 2332-2039, Taylor & Francis, Abingdon, Vol. 12, Iss. 1, pp. 1-17, https://doi.org/10.1080/23322039.2024.2431463

This Version is available at: https://hdl.handle.net/10419/321678

Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.



https://creativecommons.org/licenses/by/4.0/

Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.





Cogent Economics & Finance



ISSN: 2332-2039 (Online) Journal homepage: www.tandfonline.com/journals/oaef20

A comparative analysis of Zambian and newly industrialised country manufacturing finance models

Wiza Ng'ambi, Getrude B. Mwanza & Lubinda Haabazoka

To cite this article: Wiza Ng'ambi, Getrude B. Mwanza & Lubinda Haabazoka (2024) A comparative analysis of Zambian and newly industrialised country manufacturing finance models, Cogent Economics & Finance, 12:1, 2431463, DOI: <u>10.1080/23322039.2024.2431463</u>

To link to this article: https://doi.org/10.1080/23322039.2024.2431463

9	© 2024 The Author(s). Published by Informa UK Limited, trading as Taylor & Francis Group
	Published online: 25 Nov 2024.
	Submit your article to this journal 🗗
hil	Article views: 727
α	View related articles ☑
CrossMark	View Crossmark data 🗗



GENERAL & APPLIED ECONOMICS | RESEARCH ARTICLE

OPEN ACCESS Check for updates



A comparative analysis of Zambian and newly industrialised country manufacturing finance models

Wiza Ng'ambi (b), Getrude B. Mwanza and Lubinda Haabazoka

The University of Zambia, Lusaka, Zambia

ABSTRACT

This study compares the Zambian and NICs manufacturing finance models to identify their similarities and differences with a view to enhance Zambia's manufacturing finance and consequently manufacturing development. It applies structural equation modelling on a merged dataset and contrasts four dimensions of manufacturing finance namely, access to working capital finance, access to investment finance, domestic private start-up investment and foreign private start-up investment. The study finds similarities and differences between NICs and Zambia, and across NICs, showing variations in variable effects across contexts owing to varying political and economic conditions. The study argues that effective policy learning requires analyses of the functional level variations in the learning and exemplar countries.

IMPACT STATEMENT

The study contrasts four manufacturing finance models across the study countries, making three main contributions to literature. Firstly, while extant literature presents statistical and qualitative comparisons between NICs and developing countries for policy learning, comparison of the functional models is rarely addressed, this study attempts to fill this gap. Secondly, while finance literature focuses on generic access to finance by operating firms, this study simultaneously analyses four disaggregations of access to finance, namely, working capital finance, investment finance, domestic private start-up investment and foreign private start-up investment. These distinctions help understand the respective characteristics and interrelationships among firm creation investment, and working capital and investment finance for operating firms. Lastly, the study pioneers a detailed modelling of Zambia's manufacturing finance, a topic and context for which literature is limited.

ARTICLE HISTORY

Received 24 April 2023 Revised 22 February 2024 Accepted 14 November 2024

KEY WORDS

Manufacturing; finance; policy; SEM; Zambia; Newly industrialised countries

SUBJECTS

Development Policy; Economics and Development; Economics; Finance

SUBJECT CLASSIFICATION CODES P52; O14; O16

1. Introduction

While developing countries have numerous industrialised countries to learn from, effective implementation of manufacturing finance remains a challenge (Chansa et al., 2019; El-Haddad, 2010; Lee, 2019; Mendes et al., 2014; Mudenda, 2009; Rodrik, 2009; Romana & Leonardo, 2014; Weiss, 2005). This is evident in the sub-optimal outcomes despite widespread policy learning and adoption. Many sub-Saharan African countries in the post-independence era for instance yield less than desired results from the adoption of the import substitution industrialisation strategy from Latin America (Mendes et al., 2014). Zambia is no exception - having applied four different manufacturing finance and development strategies with lukewarm results (Chansa et al., 2019; Mudenda, 2009). Coarse country comparison and policy adoption appear to be recurring themes in developing countries (Mendes et al., 2014). Sometimes good policies are adopted from incompatible countries, other times, subtle nuances in seemingly compatible countries stifle outcomes. In either case, the results are not optimal. Manufacturing finance policy learning thus requires a methodical comparison of the causal relationships in learning and exemplar countries.

This study compares the Zambian and Newly Industrialised Countries (NICs) manufacturing finance models to identify their functional similarities and differences to accentuate functional level policy learning with a view to enhance Zambia's manufacturing finance and consequently manufacturing development. It contrasts four manufacturing finance models across the study countries, making three main contributions to the literature. Firstly, while extant literature presents statistical and qualitative comparisons between NICs and developing countries for policy learning (Chansa et al., 2019; El-Haddad, 2010; Lee, 2019; Prasad & Nickow, 2016; Romana & Leonardo, 2014), comparison of the functional models is rarely addressed. Secondly, while finance literature focuses on generic access to finance (Fowowe, 2017; Mertzanis, 2017; Musamali & Tarus, 2013; Sibanda et al., 2013; Wasiuzzaman et al., 2019) by operating firms, this study simultaneously analyses four disaggregations of access to finance, namely, working capital finance, investment finance, domestic private start-up investment, and foreign private start-up investment. Working capital and investment finance for operating firms serve different purposes; with firms facing varying degrees of access difficulty between the two, policy needs to approach them separately to be effective (Kádárová et al., 2015). In the same way, start-up investment and access to finance for existing firms need to be delineated. Because firm ownership largely speaks to the investment conditions that prevailed at the firm establishment, this type of investment should not be unconditionally linked to prevailing firm characteristics and macroeconomic conditions. This distinction aids the understanding of firm creation investment among domestic and foreign actors, their determinants, and the appropriate policy tools needed to promote them. Lastly, the study pioneers a detailed modelling of Zambia's manufacturing finance, a topic, and context for which literature is limited.

2. Literature review

With manufacturing established as an engine for growth (Szirmai et al., 2013), and manufacturing finance being a critical input that still evades developing countries, manufacturing finance policy learning appears to be a critical step to manufacturing development. Further, NICs provide developing countries such as Zambia the best learning specimen compared to initial industrialisers such as Britain. This is because NICs industrialised over a relatively shorter period and achieved this more recently. It is no wonder policy makers and academia look to NICs for manufacturing development lessons (Chansa et al., 2019; El-Haddad, 2010; Fischer, 2018; Lee, 2019; Prasad & Nickow, 2016; Romana & Leonardo, 2014). Six NICs are used in this analysis namely, India, Indonesia, Malaysia, Philippines, South Africa, and South Korea, with South Korea receiving special attention as proposed by Lindauer and Pritchett (2002). These NICs were selected based on their similarity and policy compatibility with Zambia across 12 themes, namely, economic growth and manufacturing development, financial, political and legal systems, banking and non-banking sector structures, foreign investment inflows, foreign aid receipts, fiscal policy, household financial sector participation and manufacturing firm properties.

Zambia has undertaken four industrial development strategies since independence, namely, colonial transition (1964 – 1967), import substitution industrialisation (1968 – 1991) and market liberalisation (1992 – 2000) and export-oriented industrialisation (2001 – present), with the latter three adopted from external sources (Chansa et al., 2019; Mudenda, 2009; Seidman, 1974; Simson, 1985; Thurlow & Wobst, 2006). Associated with these strategies were evidently ineffective manufacturing finance sub-strategies which relied on mining revenues in the import substitution strategy (Carmody, 2009; Chansa et al., 2019; Gui-Diby & Renard, 2015; Liebenthal & Cheelo, 2018; Seidman, 1974), foreign and domestic private investment reinforced with aid and mining revenue in the liberalisation phase (Carmody, 2009) and foreign investment, aid and mining revenue in the export orientation strategy (BoZ et al., 2019; Bwalya, 2006; GRZ, 2014, 2018). Cumulatively, inadequate manufacturing finance has been backstopping manufacturing development challenges due to such factors as commodity price shocks, inconsistency and incoherency and poor alignment to the national development strategy (BoZ et al., 2019; Chansa et al., 2019; GRZ, 2014, 2018; Mudenda, 2009; Thurlow & Wobst, 2006).

Literature drawing manufacturing finance and development policy lessons from NICs such as Chansa et al. (2019), El-Haddad (2010), Lee (2019) Prasad and Nickow (2016), Romana and Leonardo (2014), Weiss (2005) and Yusuf (2014) while useful tend to superficially assess the compatibilities between NICs and developing countries. This shortcoming thus implies that sound NICs policies may be misapplied in

developing countries. Such work nonetheless provides necessary qualitative and statistical insight into NIC policy application in developing countries. Lee (2019) for instance in drawing manufacturing finance lessons from South Korea for application in African countries while noting that South Korean conditions in the 1950s were similar to those of African countries notes the importance of centrally managed manufacturing finance. With a Zambia focus, Chansa et al. (2019) highlights some qualitative manufacturing sector differences between South Korea and Zambia but proceed to note potential intersections for policv learning.

Manufacturing finance is unique among the forms of development finance and consequently carries unique demand and supply considerations that need to be harmonised in analysis. On the demand side, Mertzanis (2017) uses a 136 country micro-survey dataset to explore the effects of firm characteristics on firm access to finance and finds that ownership type has significant effects on the financial constraints faced. Further, Musamali and Tarus (2013) find that larger, older, incorporated and manufacturing sector (see also Wu et al., 2008a vis-à-vis asset structure) firms have more access to finance among Kenyan SMEs. In the same vein, Ayodeji and Balcioglu (2010) find that ownership structure, education level of entrepreneurs (in contrast to Amornkitvikai and Harvie (2018)), sub-sector type, external start-up financing sources, credible market information sources and trade organisation membership had positive effects on the success of financing industrial sector SMEs in Nigeria. Rasiah (2011) conversely finds inverse relationships between access to finance and firm size as well as labour productivity in 151 Malaysian industrial firms. Amornkitvikai and Harvie (2018) also attest to the significance of smaller firm size, further pointing to collateral and financial transparency as well (see also Beck and Feyen (2013)).

On the supply side, Hoxha (2013) explores banking structure and manufacturing performance and finds that while higher bank concentration and capital market development (see also Allen and Santomero (1997) for a case for new markets) promote higher manufacturing for sub sectors that require external finance, bank competition is harmful to these sub sectors. Sethi (2018) examines a similar phenomenon in India and finds that banking sector reliant manufacturing firms grow faster with financial development (see also Gui-Diby and Renard, 2015 for the significance of financial development to the industrialisation of NICs), however contradicting Hoxha (2013) in exposing a negative relationship between bank concentration and manufacturing firm growth, adding that bank risk aversions inhibit manufacturing sector growth. In this regard, the Zambian financial sector development policy notes that the Zambian financial sector is bank dominated with high bank concentration (GRZ, 2017). Further, Toby and Peterside (2014) found that manufacturing benefited more from commercial and merchant bank financing relative to agriculture, concluding however that bank financing towards manufacturing and agriculture for overall economic growth remained significantly limited in Nigeria. Mesagan et al. (2018) supports this conclusion in finding no significant relationship between manufacturing and financial development in Nigeria, noting that while the country has experienced financial development, its ability to support the manufacturing sector has remained weak. Fanta (2012) found similar results, noting that Ethiopian banking reform did not resolve manufacturing SME access to finance. The counteracting findings notwithstanding, the supply of manufacturing finance needs to be harnessed across different sources including the banking and non-banking sectors.

Merging the two sides, the supply and demand of manufacturing finance need to be aligned for successful manufacturing development. Alignment of the supply and demand requires address of the multiplicity of nuances on both sides, jointly and individually. This thus requires harmonising both micro level data from firms on the demand side and macro-level data from regulatory institutions and financiers on the supply side (Beck & Feyen, 2013). Summarily, firm characteristics affect access to finance and aligning the supplied financial products to these characteristics enhances their utilisation.

3. Methodology

Structural Equation Modelling (SEM) may be seen as a multivariate estimation technique that considers both observed and unobserved variables (Igolkina & Meshcheryakov, 2020; Rosseel, 2012). Its origins can be traced back to Wright (1921), in path analysis involving only observed variables that later evolved to encompass the economics inspired simultaneous equation models and factor analysis from psychology (Igolkina & Meshcheryakov, 2020; Rosseel, 2012). SEM has consequently evolved to comprise a diverse set of tools and approaches including, path analysis, factor analysis and multivariate regression models.

Three SEM features make it especially suited for the study. Firstly, SEM's estimation of several regressions at the same time in which an independent variable in one equation may be a dependent variable in another makes it especially useful for this study (Kline, 2015; Rosseel, 2012). Secondly, SEM allows the modelling of complex relationships simultaneously, given that this study models numerous relationships across several subjects (countries), SEM halves the number of analyses conducted (Hox & Bechger, 1999; Kline, 2015; Ockey, 2013). Thirdly, SEM's inclusion of unobserved variables allows robustness checks of the unobserved components of the study conceptual framework with minimal deviation from the primary analytical model (Igolkina & Meshcheryakov, 2020; Kline, 2015). Explicit path analysis in SEM additionally made it an attractive option as it allowed greater flexibility in conducting robustness checks through path manipulation.

Notwithstanding the strategic draws, SEM carries four assumptions that need to be considered before application, namely, no multicollinearity and singularity, linear relationships between the variables, multivariate normality, and observation independence, with a minimum sample size of 150 recommended (Kline, 2015; Ockey, 2013). As such, four pre-estimation tests were conducted, following standard SEM literature (Chang et al., 2009; Hox & Bechger, 1999; Kline, 2015; Ockey, 2013; Rosseel, 2012). Specifically, multicollinearity and singularity were initially assessed using correlation analysis with Variance Inflation Factor being checked on correlation results greater than 0.9. linearity was assessed on bivariate scatter plots while multivariate composed two tiers. Firstly, univariate normality was assessed based on the skewness and kurtosis absolute values, with results higher than 3 in the former and 10 in the latter being considered problematic. Secondly, multivariate normality was tested using Mardia's coefficient of multivariate kurtosis, adopting Satorra-Bentler correction and bootstraped standard errors in cases of non-normal data (Hox & Bechger, 1999; Kline, 2015; Ockey, 2013; Rosseel, 2012).

SEM analysis also requires post estimation checks to ensure that the resulting model is well fitted. In this regard, four checks are proposed in literature, chi-square statistic, an absolute fit index, a relative fit index, and the standard root mean square residual (Chang et al., 2009; Hox & Bechger, 1999; Igolkina & Meshcheryakov, 2020; Kline, 2015; Ockey, 2013; Rosseel, 2012). The chi-square statistic assesses the deviation between the population covariance matrix estimated based on the model and the sample covariance matrix based on the data. The model is well fitted if the deviation is not significant. In the study formulation, obtaining a p-value higher than 0.05 implies that the model is well fitted. Because the chisquare statistic is based on sample size however, mild differences in between the proposed model and actual data in large data sets can lead to an erroneous conclusion about the model fit. As such, absolute and relative fit indices, operationalised through the Root Mean Square Error of Approximation (RMSEA) and Comparative Fit Index (CFI), respectively and the SRMR provide fit assessments that consider sample size and other factors. Literature recommends up to 0.08 for RMSEA, 0.9 and above for the CFI and less than 0.1 for SRMR (Kline, 2015; Ockey, 2013). With the multiplicity of considerations, overall analysis of model fit considers all post estimation checks wholistically.

Specifically, the study used Generalised SEM to model the NICs and Zambian manufacturing finance models. The access to working capital finance (AWC) and access to investment finance (AIN) models for the respective efficient NIC firms and Zambian firms carried the following functional forms:

$$AWC_{i} = \beta_{0} - \beta_{1}X_{1i} + \beta_{1}X_{2i} + \beta_{1}X_{3i} + ... + \beta_{n}X_{ni} + \varepsilon_{i}$$

$$AIN_{i} = \alpha_{0} - \alpha_{1}Y_{1i} + \alpha_{2}Y_{2i} + \alpha_{3}Y_{3i} + ... + \alpha_{m}Y_{mi} + \tau_{i}$$

Where **X** and **Y** are independent variable vectors in AWC and AIN models, with varying configurations between efficient NICs and Zambia. Further, β and α are vectors of coefficients and intercepts with i representing the firm ID and, ε and τ are the respective error terms. While the domestic private start-up investment (DPO) and foreign private start-up investment (FPO) models for the respective study countries carried the following functional forms:

$$DPO_{j} = \pi_{0} - \pi_{1}V_{1j} + \pi_{2}V_{2j} + \pi_{3}V_{3j} + ... + \pi_{l}V_{lj} + \psi_{j}$$

$$FPO_{j} = \lambda_{0} - \lambda_{1}W_{1j} + \lambda_{2}W_{2j} + \lambda_{3}W_{3j} + ... + \lambda_{o}W_{oj} + \varphi_{j}$$

Where V and W are independent variable vectors in the DPO and FPO models, with varying configurations across the respective study countries. Further, π and λ are vectors of coefficients and intercepts with j representing the firm ID and, ψ and φ are the respective error terms. It should be emphasized that the startup investment models attempted to investigate the conditions that prevailed at firm establishment, returning only firms that were at most 10 years old and using proxy variables where necessary. Specifically, after establishing the firm start-up years, the prevailing economic conditions in those respective years were retrieved and applied in the analysis. The study used the lavaan package in R to estimate the structural equation models. Robustness checks took three forms, path manipulation, iteration with substitute indicators and alternative non-normality estimation techniques. The study combined three data sources namely; World Bank Enterprise Surveys, World Development Indicators and Zambia Statistics Agency population data, and applied OECD technology intensity definitions (OECD, 2011) across the seven study countries. The study analysed 10,536 manufacturing firms surveyed between 2005 - 2020; 7,129 from India (2014), 1,066 from Indonesia (2015), 585 from Malaysia (2014), 1,028 from Philippines (2015), 337 from South Africa (2020), 213 from South Korea (2005) and 179 from Zambia (2019). Data from Ministries of Finance and National Statistical Offices was used to supplement the main datasets in cases of missing data. See the Appendix table for detailed variable definitions and type, and data sources.

4. Results

This section presents the respective NICs and Zambian access to finance and start-up investment model results. As stated above, manufacturing finance was for analytical accuracy and policy development precision divided into two components: access to working capital and investment finance and domestic and foreign private start-up investment. In the former case, two respective SEM results are presented for efficient NIC firms and Zambian firms while the latter presents six respective SEM results for individual newly industrialised countries and Zambia. While the former analysed the access to finance of operating firms, the latter attempted to analyse the conditions that prevailed at the firm establishment. In each SEM result, two tables were analysed, the model fit and regression tables, and a path diagram. Because all the model fits satisfied the SEM model fit assessment criteria presented in the methodology section above, space is conserved by only presenting the regression tables, the model fit tables and path diagrams are nonetheless available on request. In the same way, the need for leaner exposition led to the omission of the pre-estimation test results and strategic robustness checks, these analyses are nonetheless available on request.

4.1. Access to working capital and investment finance

4.1.1. Efficient NIC firms working capital and investment finance

Efficient NIC firms working capital and investment finance are shown in Table 1.

Table 1. SEM regressions: efficient NICs working capital and investment finance (WCIF).

Access to working capital finance	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	5.232	1.081	4.842	0.000
Firm type	-2.410	0.324	-7.447	0.000
Court constraints	-1.086	0.619	-1.755	0.079
Number of workers	0.569	0.155	3.664	0.000
Taxation constraints	0.727	0.394	1.844	0.065
Capacity utilisation	-0.018	0.007	-2.814	0.005
Annual sales	-0.252	0.080	-3.174	0.002
Foreign technology	0.709	0.373	1.901	0.057
Access to investment finance	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	-2.943	0.558	-5.274	0.000
Court constraints	0.658	0.282	2.335	0.020
Number of workers	0.233	0.084	2.774	0.006
Capacity utilisation	-0.011	0.003	-3.218	0.001
Fixed assets	6.784	0.273	24.847	0.000
Foreign ownership	-0.013	0.005	-2.441	0.015
Annual sales	-0.107	0.043	-2.496	0.013
External auditing	-0.359	0.136	-2.642	0.008
Government ownership	-0.031	0.018	-1.724	0.085
Manager's experience	0.017	0.010	1.715	0.086

4.1.2. Zambian firms working capital and investment finance

Zambian firms working capital and investment finance are shown in Table 2.

Table 2. SEM regressions: Zambian firms WCIF.

Access to working capital finance	Estimate	Standard Error	Z-Value	<i>p</i> -Value
Intercept	13.574	2.531	5.363	0.000
Firm type	14.556	5.223	2.787	0.005
Taxation constraints	12.338	4.767	2.588	0.010
Number of workers	-0.018	0.015	-1.263	0.207
Annual sales	0.012	0.007	1.657	0.097
Access to investment finance	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	5.171	4.599	1.124	0.261
Fixed assets	18.825	3.526	5.340	0.000
Capacity utilisation	-0.126	0.059	-2.127	0.033
City population	5.736	3.923	1.462	0.144

4.2. Start-up investment

This section presents the respective start-up investment models of Indian, Indonesian, Philippine, Malaysian, South African and Zambian firms. As shown below, while there exist some differences, similarities abound in start-up investment across NIC firms. Specifically, the effects of ODA per capita, firm type and a number of workers, and to a lesser extent market capitalisation and broad money, on domestic private ownership were generally consistent across the NICs. In the same way, the effects of firm type, number of workers and ODA per capita, and to a lesser extent technology intensity and FDI, on foreign private ownership were generally consistent across the NICs.

4.2.1. India

Start-up investment of India are shown in Table 3.

Table 3. SEM regressions: India start-up investment.

Domestic private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	101.714	1.329	76.511	0.000
ODA per capita	0.811	0.322	2.522	0.012
Internal working capital	0.003	0.002	1.533	0.125
Banking sector credit	-0.082	0.039	-2.101	0.036
Foreign private ownership	Estimate	Standard Error	Z-Value	<i>p</i> -Value
Intercept	-3.067	1.289	-2.379	0.017
ODA per capita	-0.708	0.308	-2.303	0.021
MVA per capita	-0.012	0.005	-2.343	0.019
Firm type	0.176	0.094	1.868	0.062
Banking sector credit	0.145	0.051	2.821	0.005

4.2.2. Indonesia

Start-up investment of Indonesia are shown in Table 4.

Table 4. SEM regressions: Indonesia start-up investment.

Domestic private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	100.812	3.795	26.564	0.000
Number of workers	-0.031	0.027	-1.134	0.257
Firm type	-22.854	8.194	-2.789	0.005
Market capitalization	-0.258	0.162	-1.595	0.111
Foreign private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	245.387	105.274	2.331	0.020
Number of workers	-0.257	0.114	-2.257	0.024
MVA per capita	28.295	7.788	3.633	0.000
Firm type	-2.811	1.249	-2.250	0.024
Broad money	2.320	1.799	1.290	0.197
Non-resident bank loans	100.812	3.795	26.564	0.000

4.2.3 Philippines

Start-up investment of Philippines are shown in Table 5.

 Table 5. SEM regressions: Philippines start-up investment.

Domestic private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	-137.245	67.400	-2.036	0.042
Number of workers	-0.049	0.014	-3.564	0.000
Technology intensity	-8.848	2.235	-3.960	0.000
Firm type	-23.954	3.676	-6.516	0.000
Broad money	3.477	0.943	3.688	0.000
Trade openness	0.603	0.257	2.347	0.019
ODA per capita	0.055	0.053	1.044	0.297
Foreign private ownership	Estimate	Standard error	Z-value	<i>p</i> -Value
Intercept	243.999	67.520	3.614	0.000
Number of workers	0.046	0.015	3.135	0.002
Technology intensity	8.496	2.237	3.798	0.000
Firm type	23.907	3.688	6.482	0.000
Broad money	-3.540	0.945	-3.745	0.000
Trade openness	-0.641	0.257	-2.498	0.012
FDI	0.240	0.226	1.064	0.287

4.2.4. Malaysia

Start-up investment of Malaysia are shown in Table 6.

Table 6. SEM regressions: Malaysia start-up investment.

Domestic private ownership	Estimate	Standard Error	Z-Value	<i>p</i> -Value
Intercept	135.533	51.464	2.634	0.008
ODA per capita	0.490	0.249	1.970	0.049
Firm type	-11.347	5.513	-2.058	0.040
Number of workers	-0.025	0.014	-1.801	0.072
Technology intensity	-8.932	3.161	-2.826	0.005
Broad money	0.468	0.330	1.421	0.155
Trade openness	-0.445	0.263	-1.692	0.091
Foreign private ownership	Estimate	Standard Error	Z-Value	<i>p</i> -Value
Intercept	-53.437	45.088	-1.185	0.236
Firm type	9.407	5.418	1.736	0.083
Number of workers	0.025	0.013	1.817	0.069
Unemployment rate	-7.690	4.815	-1.597	0.110
Technology intensity	9.972	3.032	3.289	0.001
Trade openness	0.330	0.234	1.410	0.159
FDI	2.483	1.709	1.453	0.146

4.2.5. South Africa

Start-up investment of South Africa are shown in Table 7.

 Table 7. SEM regressions: South Africa start-up investment.

Domestic private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	227.186	69.048	3.290	0.001
ODA per capita	0.976	0.408	2.391	0.017
Internal working capital	-0.041	0.024	-1.744	0.081
MVA per capita	-0.053	0.027	-1.987	0.047
Number of workers	-0.038	0.021	-1.756	0.079
Labour force participation	-2.140	0.964	-2.220	0.026
Technology intensity	3.744	1.668	2.245	0.025
Banking sector credit	0.371	0.178	2.078	0.038
Market capitalisation	-0.082	0.044	-1.847	0.065
Foreign private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	-36.365	23.529	-1.546	0.122
ODA per capita	-0.636	0.432	-1.471	0.141
Number of workers	0.033	0.021	1.543	0.123
Unemployment rate	1.414	0.632	2.235	0.025
Imported inputs	0.038	0.014	2.614	0.009
Technology intensity	-2.819	1.628	-1.732	0.083
Market capitalisation	0.087	0.045	1.921	0.055

4.2.6 Zambia

As is evident in Table 8 above, despite some differences, the Zambian firms' start-up investment model shares numerous similarities with NIC firm models. Specifically, every independent variable in the Zambian model had a similar effect in at least one NIC model. Notably, ODA per capita in relation to domestic private ownership in Zambia had similar effects in the Indian, Philippine, Malaysian and South African models. Similarly, number of workers in relation to domestic private ownership had similar effects in the Indonesian, Philippine, Malaysian and South African models, with firm type showing similar effects in Indonesian, Philippine and Malaysian models. Similar phenomenon was found in relation to foreign private ownership with firm type having similar effects in the Indian, Philippine and Malaysian models while number of workers had similar effects in the Philippine, Malaysian and South African models.

Table 8. SEM regressions: Zambia start-up investment.

Domestic private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	336.116	142.164	2.364	0.018
ODA per capita	0.193	0.119	1.628	0.104
Internal working capital	0.091	0.044	2.037	0.042
MVA per capita	-1.152	0.411	-2.806	0.005
Firm type	-5.882	4.550	-1.293	0.196
Number of workers	-0.130	0.025	-5.243	0.000
Labour force participation	-2.135	1.532	-1.393	0.164
Technology intensity	-9.606	3.671	-2.617	0.009
Foreign private ownership	Estimate	Standard error	Z-Value	<i>p</i> -Value
Intercept	-69.571	24.405	-2.851	0.004
ODA per capita	-0.201	0.106	-1.891	0.059
MVA per capita	0.905	0.269	3.366	0.001
Firm type	8.657	4.214	2.054	0.040
Number of workers	0.118	0.023	5.058	0.000
Unemployment rate	0.899	0.582	1.544	0.122
Imported inputs	0.029	0.018	1.607	0.108
Technology intensity	8.929	3.405	2.622	0.009

5. Discussion

5.1. Similarities between efficient NIC and Zambian firm models

Taxation constraints were positively related to access to working capital finance in both efficient NICs and Zambian firms, with Zambian firms reporting taxation constraints having 12.33 percentage points higher access to working capital finance. Taxation has the effect of reducing profit and thus reduces the funds available to repay loans and consequently inhibits loan acquisition. In this vein, the Neoclassical Theory of Investment prescribes reduction in taxation as an investment promotion strategy through the cost of capital reduction channel (Samuel, 1998). It is thus not uncommon for policy makers to offer tax incentives to investors to stimulate economic growth (Fessehaie et al., 2015; Tyson, 2017). The results show that firms at the frontier of access to working capital finance simultaneously reported the highest taxation constraints, implying that the Zambian tax regime may be inhibiting manufacturing finance. As Tyson (2017) suggests, despite there being numerous support and tax incentive structures in Zambia's formal industrial policy, they do not appear to be especially effective. Specifically, the tax regime may be preventing or posing challenges for firms that seek to exploit it to enhance access to manufacturing finance in the pursuit of more advanced financial services or increased access to available financial services. As shown in the NICs, creating an enabling tax environment through such strategies as tax incentives plays a critical role in improving access to manufacturing finance and growing the manufacturing sector. Care should nonetheless be taken to ensure that the incentives benefit the intended subsectors and efficient firms (Chansa et al., 2019; Lee, 2019; Lee et al., 2016). This study thus recommends the continuation of incentivising manufacturing sector investments through fiscal channels while strengthening monitoring and evaluation to curtail investor misuse of such incentives (Gadzala, 2010; Haglund, 2008).

Fixed assets were positively related to access to investment finance in both efficient NICs and Zambian firms, with Zambian firms that had fixed assets having 18.83 percentage points higher access

to investment finance. Collateral plays a significant role in firm access to finance as it guarantees the financier's investment should the business fail, with strong collateral law enforcement further enhancing such access to finance (Beck & Feyen, 2013; Musamali & Tarus, 2013). The natural affinity for financiers to prioritize profit while reducing uncertainty additionally strengthens the case for collateral over the business case (Amornkitvikai & Harvie, 2018; Wasiuzzaman et al., 2019). This finding has extensive literature support, the 2017 Zambia National Financial Sector Development Policy for instance argued that the banking sector is plagued with high collateral requirements (GRZ, 2017), a view supported by Fessehaie et al. (2015). The case for collateral has been found in numerous other settings such as in Ethiopia, where Fanta (2012) notes that availability of collateral was a key enhancer of access to bank financing, adding for instance that owning a non-residential building significantly increased the chances of obtaining a bank loan. Wasiuzzaman et al. (2019) in the Malaysian manufacturing sector also found collateral positively related to creditworthiness, arguing that SMEs that offer financiers collateral are accorded more access as they reduce the financier's risk. This study thus recommends the promotion of capital formation and accumulation among manufacturing firms through tax incentives.

Capacity utilisation was negatively related to access to investment finance in both efficient NICs and Zambian firms with a unit increase in capacity utilisation in Zambian firms resulting in a 0.13 percentage point decrease in access to investment finance. This follows natural reason, the more capacity for growth the more financiers are willing to offer financial resources to exploit the underutilised capacity, conversely, the lesser capacity for growth the less likely financiers are willing to offer financial resources. As argued by Tyson (2017), investors typically finance operating firms that can grow, as opposed to greenfield investments which implies higher risk because they have not been tested on the associated market. The results are consistent with Wasiuzzaman et al. (2019) who found that growth potential was positively related to credit worthiness and access to finance among Malaysian manufacturing SMEs. With financiers drawn to the growth potential signalled by low-capacity utilisation, policy may tease out the growth in firms directly by promoting accelerator programs and innovation hubs.

5.2. Differences between efficient NIC and Zambian firm models

While limited liability companies were associated with lower access to working capital finance among the efficient NIC firms, they were associated with a 14.56 percentage point higher access among Zambian firms. The difference in effects may be due to the differences in formal firms' attitudes to sourcing working capital externally and the value placed on business formalisation in the two settings. Beyond limited liability firms in NICs showing lesser appetite for financing working capital externally, business formalisation in Zambia is associated with stronger governance and transparency, reducing the likelihood of moral hazard (Amornkitvikai & Harvie, 2018; Musamali & Tarus, 2013). Limited liability companies in Zambia carry numerous statutory compliance transparency obligations related to taxation and labour. This state transparency filter enhances the odds of successful external financing for limited liability companies above other forms of business institution. This is especially the case in developing countries rather than NICs where higher business formalisation is the rule rather than the exception, noting that the share of limited liability companies among efficient NIC firms is about twice that of Zambian firms (World Bank, 2021). In explaining similar results, Musamali and Tarus (2013) introduce the significance of the firm's ability to honour financial obligations beyond the owner's capabilities. Specifically, they argue that limited liability companies have the property of continuing to exist and honour their commitments beyond the founder's longevity, giving assurance to the financier. Mertzanis (2017) despite finding mixed results, makes a similar case, arguing that limited liability companies offer financiers greater transparency and stronger governance, consequently improving their access to finance. Policy may thus promote higher levels of business formalisation to enhance manufacturing finance by streamlining registration and compliance requirements, and incentivising such formalisation with preferential government financing through such institutions as Citizens Economic Empowerment Commission.

In the efficient NIC firms' case, an extra worker raised access to working capital finance while an additional worker reduced access to working capital by 0.01 percentage points in the Zambian case. While there is a difference, the number of workers coefficients in both models were very close to zero. This study included both number of workers and revenue in the same analysis, a novel departure from mainstream literature such as Mertzanis (2017), Musamali and Tarus (2013) and Rasiah (2011). This approach was meant to distinguish between the firm's earning and number of workers to expose their varying effects in the context of varying labour-capital ratios between NICs and developing countries in the manufacturing sector. Discounting revenue effects, hiring more workers in a highly industrialised setting may imply hiring more specialised workers in the core and support functions such as financing and investment, leading to higher investment in financing capacity and thus better access to finance. This rationale does not appear to hold in the Zambian case, where hiring more workers may be a function of low industrialisation than investment in higher skilled core or support personnel with finance specialisation.

In the efficient NIC firms case, annual sales had a negative effect on access to working capital finance while a million kwacha increase in sales in the Zambian case raised access by 0.01 percentage points. While high annual sales among efficient NIC firms appears to imply firms that have such high revenues that they finance their working capital internally, the Zambian case appears to be different. The Zambian case suggests that high revenue firms still require external financing. This disparity is consistent with the financial system liquidity constraints endemic in Zambia relative to NICs and the use of high revenue as a success factor in loan applications (Amornkitvikai & Harvie, 2018). The results are further consistent with Wasiuzzaman et al. (2019) who study Malaysian manufacturing firms and argue that credit worthiness and access to finance are strongly influenced by a firm's capacity to repay credit, which is strongly linked to its sales. The predominance of small firms (less than 20 employees) in Zambia's manufacturing sector, accounting for about 39 percent compared to large firms (greater than 99 employees) which accounted for about 24 percent in 2019 coupled with low technology intensity (OECD, 2011; World Bank, 2021) gears the manufacturing sector towards low output and thus lower access to manufacturing finance. In this view, policy may promote conglomeration of existing firms and large business formation to enhance access to manufacturing finance.

Lastly, a million increase in the population of the firm's host city in Zambia raised access to investment finance by 5.74 percentage points. With population used as a proxy for urbanisation, the result follows natural logic, bigger cities have more financial institutions and easier monitoring infrastructure relative to smaller ones (GRZ, 2014, 2017). Specifically, bigger cities have easier transport and communication channels through which financiers can monitor the business performance of their investment through site visits and virtual interaction (Mertzanis, 2017). Further, bigger cities provide bigger markets onto which firms can sell their output from production growth, increasing the business case of an investment finance application. This argument is supported by Fanta (2012), who finds the existence of a market to be the major driver behind manufacturing firms' production capacity expansion plans. In addition, Mertzanis (2017) argues that firms located in urban areas in close proximity to the financiers have higher chances of accessing finance due to the availability of soft qualitative information about the firm, further finding evidence that firms that operate outside large cities face more binding financial constraints. In the current context, the 2017 Zambian National Financial Sector Development Policy notes that while only 15 percent of MSMEs are unbanked in urban areas, about 85 percent are unbanked in rural areas, highlighting the scarcity of financial services in rural areas (GRZ, 2017). Furthermore, a 2014 Zambian Manufacturing Sector Study highlighted that information asymmetry in access to finance affected manufacturing SMEs in rural areas more than it did SMEs in urban areas (GRZ, 2014). With population growth fairly stable and difficult to influence in the short term, delineating the benefits of a large population from the actual population may be helpful in policy formulation. Specifically, policy may promote geographical coverage in financial institutions through tax incentives or moral suasion to enhance access to financial services.

5.3. Start-up investment

ODA per capita in relation to domestic private ownership in Zambia had a similar effect in the Indian, Philippine, Malaysian and South African models, with an additional foreign aid dollar in Zambia associated with a 0.19 percentage point increase in domestic private start-up investment. On the other hand, ODA per capita in relation to foreign private start-up investment in Zambia had similar effects in the Indian and South African models with an extra foreign aid dollar in Zambia associated with a 0.2

percentage point decrease in foreign private start-up investment. Rajan and Subramanian (2011) argue that aid has the effect of over appreciating the exchange rate and adversely affecting the exportable industries. An overvalued domestic currency has two effects on foreign private start-up investment. Firstly, it reduces the value of foreign currency and thus discourages foreign investors from starting up businesses. Secondly, it makes exports less competitive on the international markets. With foreign private investors in the manufacturing sector typically interested in scaling up to regional markets, foreign private start-up investment gets negatively affected (Amornkitvikai & Harvie, 2018). Further, Inanga and Mandah (2008), note that foreign aid in Zambia has been a large source of manufacturing finance, citing the case of the Enterprise Development Fund, where manufacturing was the largest and second largest beneficiary under two respective subcomponents of the fund. In the same vein, Benmamoun and Lehnert (2013) find strong evidence of the developmental effects of ODA in low-income countries, arguing for the optimisation of aid receipts by channelling them into domestic private start-ups. Lastly, Tsaurai (2018) argues that the complementarity effects of aid and financial development have positive effects on economic growth. Specifically, foreign aid through its reinforcing of the financial sector may lead to economic growth, manufacturing sector growth along with it, as seen in NICs (Benmamoun & Lehnert, 2013; Fischer, 2018; Lee, 2019; Prasad & Nickow, 2016). Summarily, foreign aid influences manufacturing finance through numerous channels with evidently opposite effects on domestic and foreign private start-up investment. It increases the domestic financial resource pool, enhancing domestic private start-up investment directly through cash transfers and indirectly through the financial development complimentary channel. Foreign aid conversely has negative effects on foreign private start-up investment through the over appreciation of the exchange rate which reduces the value of foreign currencies and discourages foreign investment. Policy should nonetheless ensure that its negative effects are minimised, specifically, foreign aid directed at manufacturing firm creation may be channelled through the commercial financial system to enhance the veracity of the funded enterprises, as was implemented through the Korea Development Bank in South Korea (Lee, 2019).

Internal working capital in relation to domestic private start-up investment in Zambia had a similar effect in the Indian firms start-up investment model, with a percentage point increase in internal working capital in Zambia associated with a 0.09 percentage point increase in domestic private start-up investment. Using internal working capital as a proxy for the affinity to finance business start-ups internally or through family and friends, this result appears to follow natural reason. Specifically, domestic private start-ups are positively associated with internal financing as they typically lack the start-up resources necessary to secure external financing such as collateral (Amornkitvikai & Harvie, 2018). This result is supported by Fanta (2012) in the case of Ethiopian manufacturing SMEs, who finds that 76 percent of SME owners believed raising start-up investment was the most daunting challenge in setting up a firm, additionally noting that in developing countries, financier rigidity on collateral requirements is a major impediment to manufacturing development. Policy may remedy this in two ways. Firstly, promotion of innovation hubs may strengthen nascent business projects into fully fledged bankable projects. Secondly, government may mainstream credit quarantee schemes for well vetted manufacturing projects.

MVA per capita in relation to domestic private start-up investment in Zambia had a similar effect in the South African case with a dollar increase in manufacturing value added in Zambia associated with a 1.15 percentage point decrease in domestic private start-up investment. MVA per capita in relation to foreign private start-up investment in Zambia had a similar positive effect in the South African case with a dollar increase in manufacturing value added per capita in Zambia associated with a 0.91 percentage point increase in foreign private start-up investment. Changes in manufacturing output affects start-up investment through numerous channels. Firstly, holding incomes constant, an increase in manufacturing output has the effect of increasing consumption expenditure and reducing the domestic savings required to pursue investment. Specifically, when there is more and newer products on the market, consumers spend their disposable income on final consumption reducing the resources necessary to build new firms. On the other hand, a booming manufacturing sector may be attractive to foreign private investors as their financial resources are not incumbered by domestic final expenditure in their drive to exploit the value chain opportunities presented by a thriving manufacturing sector. The corollary is also true, FDI has the effect of enhancing manufacturing sector output. These results are consistent with

Benmamoun and Lehnert (2013), who find a positive relationship between FDI and growth, arguing that foreign investment may stimulate local supply of inputs, thereby enhancing overall output. In the same way, Keskinsoy (2017) finds that besides enhancing technology transfer and managerial knowledge, foreign investment has the effect of boosting economic growth. In the current context, the 2019 Zambian Foreign Private Investment and Investor Perceptions Survey showed that domestic economic growth was the foremost significant factor influencing foreign investors among macroeconomic and financial variables (BoZ et al., 2019). Evidently, the significance of foreign investment to the manufacturing sector is invaluable and policy needs to continue promoting foreign investment while ensuring that it is focused on developing domestic value chains and transferring technology and remains aligned to the country's long term national development strategy.

Firm type in relation to domestic private start-up investment in Zambia had similar effects in Indonesian, Philippine and Malaysian models with limited liability firms in Zambia associated with 5.88 percentage points lesser domestic private start-up investment. On the other hand, firm type in relation to foreign private start-up investment in Zambia had similar effects in the Indian, Philippine and Malaysian cases with limited liability companies associated with an 8.66 percentage point increase in foreign private start-up investment. These results follow natural reason. Foreign investment regulations in Zambia place restrictions on foreign investment inflows, such restrictions further tend to gear foreign start-ups higher on the hierarchy of business formalisation. The 2017 Zambia Development Agency for instance notes that while there's no investment limit, investor permits or eligibility for tax incentives require minimums of USD 250,000 and USD 500,000, respectively (ZDA, 2017). Such gearing inadvertently leads foreign start-ups to higher institutional formalisations as higher amounts require more transparency and accountability. On the contrary, domestic start-up investments may have more incentive to start out informal and later drift to more formal organisational structures because of the high bureaucratic burden of more formal organisational structures. As argued above, policy may promote higher business formalisation through streamlining compliance requirements and attaching higher formalisation to government enterprise financing programs.

Number of workers in relation to domestic private start-up investment in Zambia had similar effects in the Indonesian, Philippine, Malaysian and South African models with an extra worker in Zambia associated with a 0.13 percentage point decrease in domestic private start-up investment. On the other hand, number of workers in relation to foreign private start-up investment in Zambia had similar effects in the Philippine, Malaysian and South African cases with an extra worker in the Zambian case associated with a 0.12 percentage point increase in foreign start-up investment. These results are consistent with literature and common reason, domestic private start-ups are generally smaller and consequently hire fewer workers with lesser inclination towards scaling. Foreign private start-ups on the other hand tend to be larger and more sophisticated with higher gearing towards scaling. Expectedly, domestic start-ups typically struggle with resource mobilisation and therefore pursue smaller holdings compared to foreign start-ups. These results can further be confirmed by simple correlation analyses which show that while the correlation between foreign private ownership and number of workers among manufacturing firms in Zambia was 0.42, the correlation between domestic private ownership and number of workers was -0.38 (World Bank, 2021). As argued above, policy may promote business incubation hubs to enhance the scalability of domestic start-ups.

Labour force participation in relation to domestic private start-up investment in Zambia had a similar effect to the South African case, with a percentage point increase in the labour force participation rate in Zambia associated with a 2.14 percentage point decrease in domestic private start-up investment. This result follows natural logic, the more people participate in the labour force, the lesser time they have to pursue engaging entrepreneurial ventures such as manufacturing. Unemployment rate in relation to foreign private start-up investment in Zambia had a similar effect in the South African case with a percentage point increase in the unemployment rate in Zambia associated with a 0.9 percentage point increase in the foreign private start-up investment. This result follows naturally, increases in unemployment are associated with lower wages. With foreign manufacturing investors increasingly trying to minimise production costs across geographies, foreign private start-up investment is expected to be positively related to unemployment rate through the wage bill reduction and human resource availability channels (GRZ, 2014). Lee (2019), notes this phenomenon in South Korean firms upwards of 1980s

when they began to move production to developing countries that had cheaper labour costs. These results are further consistent with the 2019 Zambia Foreign Private Investment and Investor Perceptions Survey that found that availability of professional staff was the largest positive influence on foreign investment, followed by social protection, with cost of skilled labour and minimum wage levels respectively recording over 53 percent from the survey participants (BoZ et al., 2019). In this view, to attract foreign investment while ensuring high wages, policy may focus on harnessing an educated and healthy workforce through increased education and health expenditure on one hand and enforcement of health and safety regulations in the workplace (Gadzala, 2010).

Technology intensity in relation to domestic private start-up investment in Zambia had similar effects to the Philippine and Malaysian models with a unit increase on the technology scale associated with a 9.61 percentage point decrease in domestic private start-up investment. On the other hand, technology intensity in relation to foreign private start-up investment in Zambia had similar effects in the Philippine and Malaysian cases with a unit increase in technology intensity in Zambia associated with an 8.3 percentage point increase in foreign private start-up investment. This result is consistent with extant literature, domestic private start-up investments are usually low on the technology intensity scale with generally higher labour-capital ratios (Bwalya, 2006; Chansa et al., 2019; GRZ, 2014). This can be further seen by simple correlation analysis, which shows that foreign private ownership is positively related to technology intensity while domestic private ownership is negatively related to technology intensity (World Bank, 2021). In Zambia, where the bulk of manufacturing technology is imported, the high cost of licensing, installation and staff training tends to bar domestic private start-ups from establishing technologically intensive operations. The staggard technology transfer between foreign and domestic firms does not help the situation. Bwalva (2006) finds little evidence of technology spillovers from foreign to local firms in Zambian manufacturing firms with the productivity of local firms reducing as foreign firms overwhelm a sector. This further exacerbates the already fragile technology uptake among domestic firms, albeit showing signs of technology spillovers through backward linkages to facilitate the domestic supply of intermediate goods for foreign firms (Benmamoun & Lehnert, 2013; Bwalya, 2006). Notwithstanding the foregoing, the 2014 Zambia Manufacturing Sector Study nonetheless argues that FDI infusion in the manufacturing sector prior to the Fifth National Development Plan (2006-2010) was meant to drive up productivity, manufacturing finance and technology (GRZ, 2014). On the contrary, foreign private start-up investment is highly associated with high technology intensity with literature expectedly advocating for foreign investment because of its technology spillover effects (Amornkitvikai & Harvie, 2018; Andersson & Djeflat, 2013; Bwalya, 2006; Lee et al., 2016). To enhance technology adoption in the manufacturing sector, policy while promoting FDI-induced technology transfer may use import tax incentives and research and development tax rebates. Further, the government may finance or conduct base public research and development for further commercialisation, as is common in NICs.

Imported inputs in relation to foreign private start-up investment in Zambia had a similar effect in the South African case with a percentage point increase in imported inputs in Zambia associated with a 0.03 percentage point increase in foreign private start-up investment. This result is consistent with extant literature and can be confirmed with simple correlation analysis, showing that foreign private ownership and imported inputs had a correlation of 0.22 while domestic private ownership and imported inputs had a correlation of -0.15 (World Bank, 2021). Foreign private start-up investments are strongly associated with imported production inputs, this stems from their exposure to international input markets which present more diverse input options relative to domestic input markets (Amornkitvikai & Harvie, 2018). To avoid the input dependence trap experienced in Zambia during import substitution industrialisation (Chansa et al., 2019; Mudenda, 2009), policy may, where possible, incentivise resource-based manufacturing industries.

6. Conclusion

This study has compared the econometric models of NICs and Zambian firms across four dimensions; access to working capital finance, access to investment finance, domestic private start-up investment and foreign private start-up investment. It demonstrated that similarities and differences exist between NIC and Zambian firms, and across NICs; showing variations in variable effects across contexts owing to

varying political and economic conditions. While acknowledging that NICs carry more effective manufacturing finance models, the study argues that effective policy learning requires further analyses into the functional level variations in the learning and exemplar countries.

The study demonstrated that firm characteristics and supply-side factors have significant effects on manufacturing finance in Zambia, and policy may leverage such relationships. Summarily, the study recommended, continuation of manufacturing sector tax incentives while strengthening monitoring to curtail abuse; promotion of capital formation and accumulation among manufacturing firms through tax incentives; promoting accelerator programs and innovation hubs; incentivising higher formalisation through government enterprise financing requirements; streamlining limited liability business registration and compliance requirements; promoting conglomeration and large firm formation; promoting geographical coverage of financial institutions; channelling manufacturing firm foreign aid through the commercial financial system; mainstreaming credit quarantee schemes; promoting FDI while ensuring strong quardrails; harnessing an educated and healthy workforce; promoting FDI induced technology transfer and incentivising and facilitating manufacturing sector research and development; and incentivising resource-based manufacturing industries.

The unavailability of objective measurements of taxation and court constraints were the study's key limitations. Self-reported constraints nonetheless fairly approximated the constraints experienced by firms, given that firms are unique and understand their constraints best.

Disclosure statement

No potential conflict of interest was reported by the author(s).

About the authors

Wiza Ng'ambi is a researcher at the University of Zambia in Lusaka, Zambia, and Trade Finance Specialist in the Economic Research and Statistics Division at the World Trade Organization in Geneva, Switzerland. Prior to his current roles he served as a Trade Finance Consultant at the World Bank Group in Washington, DC, USA, and prior to that served in the Institute for Training and Technical Cooperation at the World Trade Organization in Geneva. Prior to joining international development organizations, he spent over eight years in Southern Africa and Zambia, serving in numerous senior management and analyst roles in such institutions as Zambia Statistics Agency, Innovations for Poverty Action, Industrial Development Corporation, Lusaka Provincial Health Office/Centers for Disease Control and Prevention, Food Reserve Agency and Citizens Economic Empowerment Commission, along with lecturing at higher education institutions such as the University of Zambia.

Getrude B. Mwanza (nee Mutono) has over 12 years of experience in the Higher Education Sector. She has practical experience in teaching and learning, academic administration and research, and quality assurance in the Higher Education Sector. Bupe has teaching and learning experience in Zambia, Zimbabwe and South Africa. She has experience in Quality Assurance in the Manufacturing Sector. She worked for Best Oil Products and Konkola Copper Mines where she was designated in the Quality Assurance Departments. Bupe has a Bachelor of Science in Production Management, Master of Engineering in Manufacturing Systems and Operations Management and PhD in Engineering Management.

Lubinda Haabazoka is Director of the University of Zambia Graduate School of Business and former President of the Economics Association of Zambia. He holds a PhD in Economics from Rostov State Economics University obtained under joint GRZ/Russian government scholarship. He has worked for Bank Vozrojdenie and Sberbank in Russia 2003-2005 and was Assistant Lecturer and Researcher in the Banking Department of Rostov State Economics University 2005-2009. He worked for the Copperbelt University from 2010-2017 as Senior Lecturer and Head of the Accounting and Finance Department in the School of Business.

ORCID

Wiza Ng'ambi (http://orcid.org/0009-0000-7992-1846

References

Allen, F., & Santomero, M. A. (1997). The Theory of Financial Intermediation. Journal of Banking & Finance, 21(11-12), 1461-1485. https://doi.org/10.1016/S0378-4266(97)00032-0



Amornkitvikai, Y., & Harvie, C. (2018). Sources of finance and export performance: Evidence from Thai manufacturing SMEs, The Singapore Economic Review, 63(01), 83-109, https://doi.org/10.1142/S0217590817440027

Andersson, T., & Djeflat, A. (2013). Measuring performance in GCC and selected MENA countries: In-depth considerations of implementation. In T. Andersson & A. Djeflat (Eds.), The Real Issues of the Middle East and the Arab Spring: Addressing Research, Innovation and Entrepreneurship (pp. 1-438). Springer, https://doi.org/10.1007/978-1-4614-5248-5

Ayodeji, A. R., & Balcioglu, H. (2010). Financing industrial development in Nigeria: A case study of the small and medium enterprises in Kwara State. Global Journal of Management and Business Research, 10(3), 46-60.

Beck, T., & Feyen, E. (2013). Benchmarking financial systems: Introducing the financial possibility frontier. In World Bank Policy Research Working Paper (Policy Research Working Papers, Issue 6615). The World Bank. https://doi.org/ 10.1596/1813-9450-6615

Benmamoun, M., & Lehnert, K. (2013). Financing growth: Comparing the Effects of Fdi, Oda, and International Remittances, Journal of Economic Development, 38(2), 43-65. https://doi.org/10.35866/caujed.2013.38.2.002

BoZ, ZSA, & ZDA. (2019). 2019 Foreign Private Investment and Investor Perceptions Survey Report.

Bwalya, S. M. (2006). Foreign direct investment and technology spillovers: Evidence from panel data analysis of manufacturing firms in Zambia. Journal of Development Economics, 81(2), 514-526. https://doi.org/10.1016/j.jdeveco. 2005.06.011

Carmody, P. (2009). An Asian-Driven Economic Recovery in Africa? The Zambian Case. World Development, 37(7), 1197-1207. https://doi.org/10.1016/j.worlddev.2008.12.002

Chang, C., Lee, A. C., & Lee, C. F. (2009). Determinants of capital structure choice: A structural equation modeling approach. The Quarterly Review of Economics and Finance, 49(2), 197-213. https://doi.org/10.1016/j.gref.2008.03.004

Chansa, F., Mubanga, N., Mudenda, D., & Ndulo, M. (2019). Industrial Growth and Policy in Zambia: Lessons from South Korea. African Journal of Economic Review, 7(2), 1–26.

El-Haddad, A. (2010). Egypt versus South Korea: divergent paths to industrialization. In A. Shehata (Ed.), Role of the State in a Mixed Economy (pp. 1–34).

Fanta, A. B. (2012). Banking reform and SME financing in Ethiopia: Evidence from the manufacturing sector. African Journal of Business Management, 6(19), 6057-6069. https://doi.org/10.5897/ajbm11.3050

Fessehaie, J., Das Nair, R., Ncube, P., & Roberts, S. (2015). Growth Promotion Through Industrial Strategies a Study of Zambia. SSRN Electronic Journal, October 2017. https://doi.org/10.2139/ssrn.2716044

Fischer, A. M. (2018). Debt and development in historical perspective: The external constraints of late industrialisation revisited through South Korea and Brazil. The World Economy, 41(12), 3359-3378. https://doi.org/10.1111/ twec.12625

Fowowe, B. (2017). Access to finance and firm performance: Evidence from African countries. Review of Development Finance, 7(1), 6–17. https://doi.org/10.1016/j.rdf.2017.01.006

Gadzala, A. W. (2010). From formal- to informal-sector employment: Examining the Chinese presence in Zambia. Review of African Political Economy, 37(123), 41-59. https://doi.org/10.1080/03056241003637904

GRZ. (2014). Manufacturing Sector Study Report: 2011-2012 (Issue 1). http://www.zm.one.un.org/Commerce_Report.pdf GRZ. (2017). National Financial Sector Development Policy.

GRZ. (2018). National Industrial Policy.

Gui-Diby, S. L., & Renard, M. F. (2015). Foreign direct investment inflows and the industrialization of African countries. World Development, 74, 43-57. https://doi.org/10.1016/j.worlddev.2015.04.005

Haglund, D. (2008). Regulating FDI in weak African states: A case study of Chinese copper mining in Zambia. The Journal of Modern African Studies, 46(4), 547-575. https://doi.org/10.1017/S0022278X08003480

Hox, J., & Bechger, T. (1999). An introduction to structural equation modeling. Family Science Review, 11, 3454-3373. https://doi.org/10.3233/978-1-61499-538-8-3

Hoxha, I. (2013). The market structure of the banking sector and financially dependent manufacturing sectors. International Review of Economics & Finance, 27, 432-444. https://doi.org/10.1016/j.iref.2013.01.004

Igolkina, A. A., & Meshcheryakov, G. (2020). semopy: A Python package for structural equation modeling. Structural Equation Modeling: A Multidisciplinary Journal, 27(6), 952-963. https://doi.org/10.1080/10705511.2019.1704289

Inanga, E. L., & Mandah, E. (2008). Foreign aid finance and economic development: The case of two foreign aid financing agencies in Zambia. International Research Journal of Finance and Economics, 14(14), 322-358.

Kádárová, J., Bajus, R., & Rajnoha, R. (2015). Optimal Financing of the Industrial Enterprise. Procedia Economics and Finance, 23(October 2014), 953-958. https://doi.org/10.1016/s2212-5671(15)00380-9

Keskinsoy, B. (2017). Taxi, takeoff and landing: Behavioural patterns of capital flows to emerging markets. International Economic Journal, 31(2), 179-205. https://doi.org/10.1080/10168737.2017.1315158

Kline, R. B. (2015). TXTBK Principles and practices of structural equation modelling Ed. 4 ***. In Methodology in the

Lee, K. (2019). Financing industrial development in Korea and implications for Africa. How They Did It AfDB, 1(3), 548-570. https://doi.org/10.1093/oxfordhb/9780198793847.013.24

Lee, K., Gao, X., & Li, X. (2016). Industrial catch-up in China: A sectoral systems of innovation perspective. Cambridge Journal of Regions, Economy and Society, 10(1), 59-76. https://doi.org/10.1093/cjres/rsw037



- Liebenthal, R., & Cheelo, C. (2018). Understanding the implications of the boom-bust cycle of global copper prices for natural resources, structural change, and industrial development in Zambia. https://doi.org/10.35188/UNU-WIDER/ 2018/608-1
- Lindauer, D. L., & Pritchett, L. (2002). What's the big idea? The third generation of policies for economic growth. Economía, 3(1), 1-39. 10.1353/eco.2002.0017
- Mendes, A. P. F., Bertella, M. A., & Teixeira, R. F. A. P. (2014). Industrialization in sub-saharan africa and import substitution policy. Revista de Economia Política, 34(1), 120-138. https://doi.org/10.1590/S0101-31572014000100008
- Mertzanis, C. (2017). Ownership structure and access to finance in developing countries. Applied Economics, 49(32), 3195-3213. https://doi.org/10.1080/00036846.2016.1257106
- Mesagan, E., Olunkwa, N., & Yusuf, I. (2018), Financial development and manufacturing performance: The Nigerian case. Studies in Business and Economics, 13(1), 97-111. https://doi.org/10.2478/sbe-2018-0009
- Mudenda, D. (2009). Trade and Industrialisation Policies. Experienced from Zambia (Trade and Industrial Policy Strategies, Issue December).
- Musamali, M. M., & Tarus, D. K. (2013). Does firm profile influence financial access among small and medium enterprises in Kenya? Asian Economic and Financial Reivew, 3(714), 714-723.
- Ockey, G. J. (2013). Exploratory factor analysis and structural equation modeling. In The Companion to Language Assessment (pp. 1224-1244). John Wiley & Sons, Inc. https://doi.org/10.1002/9781118411360.wbcla114
- OECD. (2011). ISIC REV. 3 TECHNOLOGY INTENSITY DEFINITION Classification of manufacturing industries into categories based on R&D intensities High-technology industries Medium-high-technology industries. https://www.oecd.org/sti/ ind/48350231.pdf
- Prasad, M., & Nickow, A. (2016). Mechanisms of the 'Aid Curse': Lessons from South Korea and Pakistan. The Journal of Development Studies, 52(11), 1612-1627. https://doi.org/10.1080/00220388.2016.1178382
- Rajan, R. G., & Subramanian, A. (2011). Aid, Dutch disease, and manufacturing growth. Journal of Development Economics, 94(1), 106-118. https://doi.org/10.1016/j.jdeveco.2009.12.004
- Rasiah, R. (2011). Financing small and medium manufacturing firms in Malaysia. In C. Harvie, S. Oum, & D. Narjoko (Eds.), ERIA Research Project Report (Issue September, pp. 231–260). ERIA Research Project Report. http://www.eria. org/publications/research_project_reports/images/pdf/y2010/no14/CH_08_Malaysia(p.231-260).pdf
- Rodrik, D. (2009). Industrial policy: Don't ask why, ask how. Middle East Development Journal, 1(1), 1-29. https://doi. org/10.1142/S1793812009000024
- Romana, S., & Leonardo, L. (2014). Some Lessons from Korea's Industrialization Strategy and Experience.
- Rosseel, Y. (2012). lavaan: An R package for structural equation modeling. Journal of Statistical Software, 48(2), 1-93. https://doi.org/10.18637/jss.v048.i02
- Samuel, C. (1998). The investment decision: A re-examination of competing theories using panel data. Applied Economics, 30(1), 95-104. https://doi.org/10.1080/000368498326182
- Seidman, A. (1974). The distorted growth of import-substitution industry: The Zambian case. The Journal of Modern African Studies, 12(4), 601–631. https://doi.org/10.1017/S0022278X00014282
- Sethi, P. (2018). Paradox of external finance in the Indian manufacturing sector. Journal of Financial Economic Policy, 10(1), 95-111. http://dx.doi.org/10.1108/JFEP-11-2014-0069%5Cn https://doi.org/10.1108/JFEP-08-2017-0069
- Sibanda, K., Hove-Sibanda, P., Shava, H. (2013). The impact of SME access to finance and performance on exporting behaviour at firm level: A case of furniture manufacturing SMEs in Zimbabwe. Acta Commercii, 18(1) 1-13. https:// doi.org/10.4102/ac.v18i1.554
- Simson, H. (1985). Zambia: A Country Study (Issue May). Scandinavian Institute of African Studies. eu-repo/semantics/ openAccess
- Szirmai, A., Naudé, W. A., & Alcorta, L. (2013). Introduction and Overview: The Past, Present and Future of Industrialization. In Adam Szirmai, Wim Naude, & Ludovico Alcorta (Eds.), Pathways to Industrialization in The Twenty-first Century: New Challenges and Emerging Paradigms, WIDER Studies in Development Economics. https:// doi.org/10.1093/acprof:oso/9780199667857.003.0001
- Thurlow, J., & Wobst, P. (2006). Not all growth is equally good for the poor: The case of Zambia. Journal of African Economies, 15(4), 603-625. https://doi.org/10.1093/jae/ejk012
- Toby, A. J., & Peterside, D. B. (2014). Analysis of the role of banks in financing the agriculture and manufacturing sectors in Nigeria. International Journal of Research in Business Management (IJRBM), 2(2), 9-22. http://www.impactjournals.us/journals.php?id=78&jtype=2&page=3
- Tsaurai, K. (2018). Complementarity between foreign aid and financial development as a driver of economic growth in selected emerging markets. Comparative Economic Research. Central and Eastern Europe, 21(4), 45-61. https:// doi.org/10.2478/cer-2018-0026
- Tyson, J. E. (2017). Mobilising Private Financing for Manufacturing in Sub-Saharan Africa (Issue June). http://set.odi.org/ Wasiuzzaman, S., Nurdin, N., Abdullah, A. H., & Vinayan, G. (2019). Creditworthiness and access to fi nance: a study of SMEs in the Malaysian manufacturing industry. Management Research Review, 43(3), 293–310. https://doi.org/10. 1108/MRR-05-2019-0221
- Weiss, J. (2005). Export growth and industrial policy: Lessons from the East Asian miracle experience. In Asian Development Bank Institute (26; Issue 26). http://www.adbi.org/files/2005.02.dp26.eastasia.govt.policy.pdf



World Bank. (2021). Enterprise Survey Data. Enterprise Survey Data. https://www.enterprisesurveys.org/en/surveydatasets

Wright, S. (1921). Correlation and causation. Agricultural Research, 20, 557-585.

Wu, J., Song, J., & Zeng, C. (2008). An empirical evidence of small business financing in China. Management Research News, 31(12), 959-975. https://doi.org/10.1108/01409170810920666

Yusuf, S. A. (2014). The Analysis of Export Performance of Newly Industrialized Countries (NICs): The Lesson for African Countries. Munich Personal RePEc Archive (retrieved from https://mpra.ub.uni-muenchen.de/55110/ on 20th January 2022).

ZDA. (2017). Investor Guide Handbook. https://investzambia.zda.org.zm/wp-content/uploads/2019/04/ZDA-Investor-Guide-Handbook-2017.pdf

Appendix Table: variable definitions and sources (compiled data is available on request).

S/n	Type	Variable	Definition	Source
1	Dependent	Access to investment finance	Bank and non-bank financed investment	WB - ES
2	Dependent	Access to working capital finance	Bank and non-bank financed working capital	WB – ES
3	Independent	Annual sales	Price updated annual sales	WB - ES
4	Independent	Banking sector credit	Domestic credit to private sector by banks	WDI
5	Independent	Capacity utilisation	Firm capacity utilization	WB - ES
6	Independent	Courts as a constraint	Firms reporting courts as an obstacle and courts as a major constraint	WB - ES
7	Dependent	Domestic private ownership	Proportion of private domestic ownership in a firm	WB - ES
8	Independent	Firm type	Limited by liability firm legal status	WB - ES
9	Dependent	Foreign private ownership	Proportion of private foreign ownership in a firm	WB - ES
10	Independent	Imported inputs	Proportion of total inputs that are of foreign origin	WB - ES
11	Independent	Internally financed working capital	Proportion of working capital financed by internal funds	WB - ES
12	Independent	Manager's experience	Years of the top manager's experience working in the firm's sector	WB - ES
13	Independent	Market capitalisation	Market capitalization of listed domestic companies (% of GDP)	WB /IFS
14	Independent	MVA per capita	Manufacturing value added per capita (constant 2015 US)	WDI
15	Independent	Net ODA received per capita	Net ODA received per capita (current US\$)	WDI
16	Independent	Number of workers	Number of workers in the firm	WB - ES
17	Independent	Taxation as a constraint	Firm identifying tax rates and tax administration as major constraints	WB - ES
18	Independent	Technology intensity	OECD technology intensity classification based on firm ISIC code	OECD/WB - ES
19	Independent	Unemployment rate	Unemployment, total (% of total labour force)	WDI
20	Independent	Trade openness	Total trade share of GDP	WDI
21		Foreign direct investment	Foreign direct investment, net inflows (% of GDP)	WDI/IFS
22	Independent	City population	Population of host city	ZSA
23	Independent	Fixed assets	Firm bought fixed assets	WB - ES
24	Independent	Broad money	Broad money (% of GDP)	IFS
25	Independent	Labour force participation rate	Labor force participation rate, total (% of total population ages 15+)	WDI